3 (Sem-5) PSC 1

2022

POLITICAL SCIENCE

( General )
Paper : 5.1
( Public Administration—I )

Full Marks : 80

Time : 3 hours
The figures in the margin indicate full marks
Jor the questions A

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
©TS AR Aot Tes forn -
(@) Who is régarded'as the father of public
administration?
CIREPTFR &% IH I FRI W ?

(b) Who first used the concept ‘scientific
management’?

WEfE AR’ 4RI AW @A INIR
IRfea 2
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()

(@)

(e)

1)

(2)

Which stage of evolutlon of public
administration is considered as ‘Golden

Age™?
@R RIPR QWeE fwF ‘eradR 3o
o = e

Which among the following is not
considered as a base of organization?

TR (T SRa1ed % I 1 TN T2
(i Purpose
ST
(i) Process
TS
(i) Place/Area
T-
fiv) Principle
A®  (Choose the correct answer)

(0% Taach R Torean)

Department is a line/a staff/an auxiliary
agency. (Choose the correct answer)
Rerr 251 b1 /77 / ¢t TR Con |

(% Tt AR Tferean)

Write one difference between departrﬁent
and public corporation.

1 o 591t Ao W9 b1 el o |

8A/143
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2. Answer the following questions :

(3)

The first public corporation of India was
established in the year 1948/1950/
1955. 4

(Choose the correct answer)

SRER AN SR ReWCh ol v taRs

388k / ddeo [ Sdee 5G|

(0% baahr AR Thyea)

The Union Public Service Commission is
a constitutional body in India.
(Write True or False)

Y ERCRT W SRS @B Ry
ptcfl (8% ¢ =% for)

Name one staff agency of India.
SRSY 1 ST ¢ANBY AW B o

The word ‘corruption’ has come from the
Latin ‘word ‘corrupt’.
(Write True or False)

.?Wﬂm’mmﬁaw TN’ [/ IRR |

(o= @ R fara1)

TR 2eAiRd Bl forn

(a)

8A/143

Why is public administration a science?
Give two arguments.

@ R e 2 71 IS fn

( Turm Over )
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(4) | (5)

(b) Mention two characteristics of New () Write about the principles of
Public Administration. bureaucratic theory of Max Weber.
TEA CTRREPTPTR o1 ¢Pgy ey 4 (T SR SIS Sgd A ot |
() What is auxiliary agency? (d) Write a short note on POSDCORB.
e sgEe e 2 | POSDCORB 3 8RS «b1 53 GG |
(d) Write two advantages of decentralization. ‘
: (e) Write briefly about the causes of
ReF@Fa TBT ﬁﬁ*ﬂﬁm ! degradation of ethics and values in
_ . Indian administration.
(e) Mention two measures of parliamentary SReH _
control over public corporation. orcd V{Na" Iﬁmiﬁ'ﬁ I TR TP P
I e eEe wel feaer wor Som
T FA !
() Explain in brief about the importance of -
3. Answer in brief (any four) : Sx4=20 public administration.
3 e fir (R GG ) : | TR R R T I
(a) Write the differences between public
administration and private adminis- 4. Answer -the following questions : 10x4=40
tration. o i AR e o
T WF ([ P ANGFER a1 (a) What is public administration? Discuss
. : its nature.
(b) E\&;hpal.;n are the types of department? IR R 7 GIReMPTa #3TS ST 31 |
Re1R 2R R 2 e 4
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()

(c

(6)

Or / Fi&
Discuss briefly ' various stages of
evolution of public administration as a
discipline.
R Ront @rerr RerR RRE MR
BYLF AT F97 1

Critically  discuss the  scientific
management theory of organization.

TS (TG RO S T
Lie s B0 T
Or / %

Analyze critically the Abases of
departmental organization.

Refy bR RRERA S Roma
SR |
What is meant by'span of control? Why is
it necessary in organization? Explain.
fAvgs Rt oY 2 oo TR e
2 am =+

Or / A

What is meant by hierarchy? Write briefly
its advantages and disadvantages,

wﬂaﬂawﬁ'zmqﬁmwwwﬁm
oL

(7))

(d) Analyze briefly the differences between

line agency and staff agency.
I M AF Y (NG NYFER TLF 36T

91
Or / %1

What is public corporation? Write briefly
the characteristics of public corporation.

3R Ao 2 e R RRBR
o :

* % Kk
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POLITICAL SCIENCE
( General )

Paper : 5.2

( Select Constitutions—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
At St were AT Tee for -
(a) The British Constitution is unwritten.
(Write True or False)

3zered WRYW SRS |
(@1 & e o)

(b} The President of America cannot be
removed. (Write True or False)

SRR BT TopmiRe FRT ERIR |
(7% =T fordn)
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(2)

(¢ Which House of the British Parliament
can be dissolved?

o ST PR T S AT AR 2

(d) The tenure of the Office of the President
of USA is .

(Fill in the blank)

SARTA TR I (T’ |
(AR X *RT ])

fe) The British Cabinet is collectively
responsible to the House of Lords.
(Write True or False)

FOTA TR TRFOIR A O 66
G |

(&1 @ =@ feran)

() Who appoints the Prime Minister of Great
Britain?

¢l JOFR Aqae @I YRS fiea 2

(g9 Who presides over the meetings of the
Senate?

Wmmmﬂmm?

3A/144 { Continued )

(3)

(h) What is the term of the House of
Representatives of USA?

HaReR AfRRR or srfEE W2

() Which Court is the highest Court of
Appeal in Great Britain?

5 OTTS (P T S e T ?

(i) The British Constitution is very flexible.
(Write True or False)

or Ry SR T | .
TS G S )
2. Answer the follovying : 2xE;=10
e fraraRe Tea fora

(a) Write two differences between King and
the Crown.

TG W TOTER TS 4 o1 N o 1.

() Write two qualifications for the
Presidentship of USA.

SIEARFR TS *3 o1 e oo
(c) Name two political parties of Britain.
TR T AT T AW o
8A/144 ( Turm Over )



(4)

(d) Write two powers and functions of the
Supreme Court of USA.

SEReR TweN WEEE P we wF I
o

(e) Mention two causes of the omnipotence
of the British Cabinet.

% TEPTOR AR 1 FRT ey 1|

3. Answer any four of the fonqwing : 5x4=20
oo R @ oo Tea o

(a) Discuss the role of Convention in the
British Constitution.

OB ARTS CPIERT R S 341 |

(b) Discuss the features of the Party System
of USA.

SICHRIA T IR (IFBPRR oAl 41 |

(c) Explain the differences between the
Cabinet and the Council of Ministers of
UK.

el W wF W@ R e o3
NYPPRR I 791 |

8A/144 ( Continued )

(§)

(d) What are the causes of weakness of the
House of Representatives of USA?

AR AR R fHeer PR B B2

(e) Discuss the position of the Speaker of the
House of Commons.

FIF O TUHY T San 40 |

() Make a short comparison between the
House of Lords of UK and the Senate

in USA.
2Eeq TS TSl F HLARIN O TR THS
. % O] 5o 0
4. Answer any four of the following : 10x4=40
v s R @ vier bee ot :

(a) What is Constitution? Discuss the
importance of Constitution in democracy.

SRy 37 ATFS TRy @FR TGN 0 |

(b) Discuss the main features of British
Constitution.

O TRET T WERPRR S+ |
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()

(d)

(e)

(9)

8A/144

(6)

Explain the powers, functions and
position of the Prime Minister of Britain.

TOTR gy wHel, IN WF oo

ICEoA 4T |

Discuss the composition, powers and

functions of the Senate in USA.

Wmmm,www‘

EICoAT 91 |

Why is the Supreme Court of USA
described as the Third Chamber of the

legislature? Explain.

Wmaﬂwmﬁmeﬁam
i I R M AU

Discuss the salient features of the British
Cabinet.

3for 3BT A1 (IREPTZ ST 397 |

Discuss the role of Pressure Groups in
the political system of USA.

mﬁmw&?wmcmgﬁm
A 41 1

( Continued )

(7)

(h) Discuss the main features of the British
Judicial System. '

o Rom JgR ovm WREPRR wIRE

91
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